©F))o 31-12-2010 | 31-12-2011|  es39ew 31-12-2010 | 31-12-2011
Rs. Rs. Rs. Rs.
Sadged e 2,40,000 | 3,60,000 | z5dacen 1,66,200 | 3,39,600
JoreSo
FoeT 9030 24,000 36,000 | cSsomren 1,06,800 | 1,53,900
Fee8er OB 18,000 27,000 | $0)36 7,200 4,500
o I 58,500 62,400 | 3§ 66,300 78,000
P°Ig°
8% $BoSBY. - 78,000 | zawesri,doen | 1,09500 | 1,17,300
RESERY 29,400 32,700 | erposo 14,400 12,000
So7)e,
22230°H 0 1,00,500 1,09,200
4,70,400 | 7,05,300 4,70,400 7,05,300

Oogrop SBSe 85.38,400, $8)580 Sdorace 65°.1,200
D070 S5
OR

b) Sony Company Ltd. submitting its Balance Sheet for the year
ending 31* March, 2012. Calculate ratios for (i) Testing liquidity
and (ii) Testing solvency

Balance Sheet as on 31* March, 2012

Liabilities Amount (Rs.) Assets Amount (Rs.)
Equity share capital 5,00,000] Goodwill at cost 2,50,000
12% Preference share 2,50,000] Plant and 3,00,000
capital Machinery
General Reserve 50,000{ Land and Buildings 3,50,000
Profit & Loss Account 2,00,000{ Furniture 50,000
Provision for tax 88,000] Stock 3,00,000
Bills payable 62,000| Bills receivable 15,000
Bank overdraft 10,000{ Sundry debtors 75,000
Sundry creditors 40,000 Bank 1,00,000
12% Debentures 2,50,000] Marketable 10,000

securities
14,50,000 14,50,000

S0y 31,2012 &° @oéaéooioeg 5o°d8 3D €02 dWe3 s 778 el
o HIE AMS ZHEKA. T SIS B0E’ (i) &5 oo
(i) 363538 D0 B oso50
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[CUDCO-305]
B.Com. Degree Examination

111 YEAR

COST AND MANAGEMENT ACCOUNTING
(effective from the admitted batch 2009-10)

Time: 3 Hours Max.Marks: 70

Instructions:  All parts of the unit must be answered in one place only.
Figures in the right hand margin indicate marks allotted.

SECTION-A

1. Answer any Four of the following: (4x5=20)
800 638" DI Toory FFo IRTE BTN TG00

a) Explain the Cost Accounting and it’s objectives
S"%@ @T0e30A IIB0D), oo %cf}né?géowm DBBoYHRW

b) Differentiate Management Accounting from both Financial
Accounting and Cost Accounting
3.{_)@"’3@0‘535 950830/ 508050 S"su 90308 BoGos3&E’ D HAE0LW
©&0830A% Ko S5

c) Describe material control. What are its objects?
e380508 Q38208 £350 DHBoD), T°A %cfsn%?gm@éo B0

d) What are the different methods and techniques of costing?
oA G Boed KBS FodBY ¥LS5e0 (Techniques) osm

e) Briefly explain the various types of budgets
DI B9 2@ E50B HogHI0MT IS0

f) Explain the objective and limitations of financial statements
e85 QAT oF o, HBNBIWDH IFOoYHIW
g) What do you understand by Funds Flow Statement? What are

its uses and limitations?
AP0 [T IDOEIMT dD? G GIABTTe B3N HBNSI

2972



Answer all questions

SECTION-B

s $00 HFodNoedd IV IR0 T05008

2. a)

b)

Explain briefly various tools and techniques of Management

Accounting
3820085 9T 0e30AS” &IBTAD 5 Bo0%0 BN oY

JendHrden (Techniques) 2580530

OR

Mr. Bharath furnishes the following data relating to the
manufacture of a product during the month of December, 2011
Raw Materials consumed Rs.60,000

Direct labour charges Rs.36,000

Machine hours worked 3,600 hours

Machine hour rate Rs.10

Administrative overhead 40% on works cost

Selling overhead Rs.1.00 per unit

Units produced 68,400 units

Units sold 64,000 units @ Rs.8 per unit

You are required to prepare a statement of cost and profit
G028> 2011 & 28 DY B205 SHB S5 30968
BoRoPoDH IIT0H FES S AMDBY)S IForr SrHBOTNE
AAABTAEDS Swadorozed %5°.60,000

5858, %% 65-.36,000

%080 JAB1D Kosoen 3,600 Kotoen

0300 Koo e Kosods 85°.10

oo 858 E-SoyrESiasep 40%

IEe L56E aSwedes 18 85°.1.00

&)Y 323 cSardeny 68,400 cSomdeny, NS cSresy 64,000
aSardeoy, 18 8578 TS, K03 o) SrHEr DO
BOSeBY BA30 D0

The following details are obtained from Mohan Co. Ltd. for the
4™ quarter of 2011. The balance of stock on 1% October, 2011
was 2500 units @ Rs.0.475 per 100 units. The other details are
as follows:

(5x10=50)

OR

b) Calculate labour variances from the following data
The budgeted labour force:

20 unskilled workers @ .75p per hour for 50 hours
10 skilled workers @ 1.25 per hour for 50 hours

The actual labour force:

22 unskilled workers @ .80 per hour for 50 hours
8 skilled workers @ Rs.1.20 per hour for 50 hours

&3 éo& DITO0S DSBS ISBeToN @%bo{)o(fo
AleXN] 08 ddoren:

20 2o S Hoeody .75p. TS 50 Hoeress 10 dHeo
Hoardy Hoeodd 85°.1.25 $79))S 50 Hotoods
IS 5208 DHoen:

22 2Pegsn SATBY Koedsy 80P 57))d 50 Hoeoo¥s 8 dyesgan
S0t Hotddy 85°.1.20 §7))% 50 Hoeoods

a) From the following Balance Sheets of a business firms, prepare
Funds Flow Statement

Balance Sheets

Liabilities 31-12-2010 | 31-12-2011| Assets | 31-12-2010 | 31-12-2011

Rs. Rs. Rs. Rs.
Equity share capital 2,40,000| 3,60,000 [Buildings 1,66,200 3,39,600
Share Premium 24,000 36,000 |Machinery | 1,06,800 1,53,900
General Reserve 18,000 27,000 |Furniture 7,200 4,500
P&L A/IC 58,500 62,400 [Stock 66,300 78,000
8% Debentures - 78,000 |Debtors 1,09,500 1,17,300
Provision for taxes 29,400 32,700 |Bank 14,400 12,000
Creditors 1,00,500( 1,09,200

4,70,400| 7,05,300 4,70,400 7,05,300

Provident depreciation on Machinery Rs.38,400 on Furniture Rs.1,200
28 Joyad AN MR ey v Sede esrborr Doy T

28523082080 BOSTB S50 Hw




Admn. Expenses 70,000
Variable Expenditure:

Materials 2,00,000
Labour 2,50,000
Others 40,000
Semi-Variable Expenditure:

Repairs 1,00,000
Indirect Labour 1,50,000
Others 90,000

Fixed expenditure are constant at all levels. The sub-variable
expenditure will not change upto 60%. They will increase by
10% from 60% to 75% levels and thereafter 5% more.

The estimated sales at these levels are at 60% Rs.11,00,000 at
70% Rs.13,00,000 at 90% Rs.15,00,000
808 J3rarEsn 50% GB) FB08 g0 58 SABHY) a8 ABwS

P°T HIFO Do EBoBVEDA. €3 a55°AeS a3¥), 60%, 70%,
90% &8, BT fo 5 TP ONESH 800808, 3 y20d
a)@wéf BOSBY 30508,

Boe.

i‘%éégdmmz

S 50,000
SIRERENGS 40,000
BBoK505 0 60,000
Fo® Sp0so0 70,000
66530‘55"2»:

2638058, 2,00,000
B 2,50,000
388 HHaAsren 40,000
eé—ééégcﬁrm:

BBy, 1,00,000
3B EB 1,50,000
JBoren 90,000

) b‘éoaoo 38, é’%é éagdmoo AP0 GoeI oN. &Z)ééé?go‘&voo
60% &), b"éme 388 Joddm &otrron. 60% o 75% 8%
10%, es Stoaes TS 5% &ISEIHSreS 2BorSe Gotaod.
Ss b;owe $¢ o @&&9@—60% S5 %5°.11,00,000, 70% S5
85°.13,00,000, 90% ¢ ©5°.15,00,000

Month Purchases Per 100 units Issue
October 10,000 units 0.50 9,150 units
November 20,000 units 0.55 20,316 units
December 25,000 units 0.60 18,070 units

Charge one percent of opening balance in every month as
abnormal loss. You are required to prepare stores ledger

under First-in-First-put method of pricing of materials

2011 & 595 54858 JowoGodI DT e 2D Sod DeIE
D350 Hod JEBoTAEIB. @S2 1, 2011 a0 FBoP) HE9%
Doy 2500 c53°dey @ 85°.0.475 58 100 oSoseen ¥o, 388 ddorew
$08 DD &HA.

dow SESN 38 100 03237dea), wbed
oS8 | 10,000 03237083, 0.50 9,150 G8xReny,
d%ow8> | 20,000 05237Qey, 0.55 20,316 05:°De2y,
GR028> | 25,000 05:5°e0, 0.60 18,070 0523780y,

b)

390 808 JofS” 28 TSI VI IRINT P DoSod.
2 BT 0 eEBINT 0TI Aoy Do s HDD 230008
S0 b 388 ogor 20638008 b 8% DE 0000z, $A338
D0O300E.

OR

The following is the usage of A and B materials
Normal usage : 50 units per week
Minimum usage : 25 units per week
Maximum usage : 75 units per week

Ordering Quantity - “A” 400 units
‘B’ 600 units

Delivery period : A 410 6 weeks
B 2 to 4 weeks

Calculate for each material:

i) minimum level ii) maximum level

iii) ordering level and iv) average level

A 508050 B 2063805085 808 Dorr &IBTASE®
JGBer AAABTRID + 3oedd 50 8 deny

83 AR>S0 1 7omd8 25 S dey,



503 AAA3FrI0 1o 75 dSaredeny,
e85 32 D8Sreasn 1 ‘AT 400 03 den,
‘B’ 600 cSaseReny,
1A 4 Bo0d 6 o
‘B’ 2 %00c 4 Froren
58 206300588 (i) ¥ o (i) K5 dow
(i) 88> 32 Jpow (V) e Jrowods 88 oied

@938 Idseoo

A business firm of building contractors began to trade on 1%
April, 2011. The following was the expenditure on the contract
for Rs.3,00,000.

Rs.
Materials issued to contract | 51,000
Plant used for contract 15,000
Wages incurred 81,000
Other expenses incurred 5,000

Cash received on account to 31% March, 2011, amounted to
Rs.1,28,000 being 80% of the work certified. If the plant and
materials charged to the contract plant which cost Rs.3,000 and
materials which costs Rs.2,500 were lost. On 31% March, 2011
plant which cost Rs.2,000 was returned to stores, the cost of work
done but uncertified was Rs.1,000 and materials costing Rs.2,300
were in hand on site.

Charge 15% depreciation of plant, and take to the profit and loss
account 2/3 of the profit received. Prepare a contract Account
Contractee’s Account and Balance Sheet from the above
particulars.

2.8 ?3%05 S“oé{')’é@ém K)oi% 2011 bcgg)g 1% 33605)05)0(5. %5°.3,00,000

0 ot 0 PBN &3 08 I B10d.

0e58) K erdBdD 206300508 65°.51,0000, sT08E) %0
&IBTA0DVD o0t 85°.15,000; 38 oDD DSaren 85°.81,000e0;

388 pdyen 65°.5,000e0.

2011 5578y 31 a7¢38 $)DEBoSaES 3S° 80% &08 87.1,28,000
) e JKSS ﬁ;ogééozﬁaaéé&. St % T B2S I os,
26300508, 85°.3,00000, eden S I3 0 otw 85°.2,5000 eden
28 33 20838008 TSwdsd. 2011 S8y 318 857.2,0000 een
P8 3D ot FBoyEs T HH BB, TrY, won ¢§)EBoSD

b)

550320 65°.100000, 85°.2,3000> b 32 22630058 Joes Hood’
‘%K)QZ).

OR
A by-product ‘Beta’ is derived in the course of manufacturing a

product “Alpha’. The by-product is further processed for sale.
From the following data available from the records.

Prepare an account showing the cost per kg. of the product
“Alpha” and the by-product “Beta”

Joint Expenses Separate Alpha Expenses Beta
Rs. Rs. Rs.
Materials 10,000 6,000 500
Labour 7,000 5,000 2,000
Overheads 2,500 1,500 600

The quantities produced during the period under consideration
were:

Alpha-100 kg. and Beta 50 kg.

The selling price of Beta was rs.120 per kg. and 30% profit on it
‘o od B $058 SRosm Her’ @d &l 6B
E)EIB00. &I GB)BI8 SIS TRV BEIIIS. 8By
0DoDD §,08 JIIBo Hod PO S5 B S0 GBS,

‘wor) &3 GS)E DL’ B¥), 28838 HoSrY) Srdod.

am&& PBy o) A By N’
20638058, 10,000 6,000 500
3 7,000 5,000 2,000
8.582 &, 2,500 1,500 600

oS &I) HWG Toos &HY IV B0Ires0 "wery’ 100 Sfen,
Her 50 Sden. "Her’ 58 6 888 65.120/-00 So0050 €58 03
oo o 30%

The following data is taken at 50% production capacity of a unit.
You are required to prepare flexible budget at 60%; 70% and 90%
of its capacity. Also determine the unit’s profitability at different
stages.

Rs.
Fixed Expenditure:
Salaries 50,000
Rent and Taxes 40,000
Depreciation 60,000




31 56, 2012 w83 %) oo DL

)0 8. e300, 00 oo,
éeéogé,ﬁ Toeo” 5,00,000 #o&DE (p05%d) 2,50,000
R TAR N
12% es¥gy areo 2,50,000| 2 o0tad—-0500&ed 3,00,000
RIS TaR PN
e BBy 50,000| 255>, FHTred 3,50,000
o, ST Po 2,00,000] $&)s8> 50,000
RESERCRY Qoyesy, 88,000| 380% 3,00,000
39 0% Hayeno 62,000] Sdren Doy e 15,000
w0 858 @R, 10,000| 200eats,Bye0 75,000
200807 B0 40,000| @gos> 1,00,000
09% GBoBBY. 2,50,000| 28,0001 SAS 10,000

epoeden
14,50,000) 14,50,000
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